

$\Sigma (n = 1 \text{ to } \infty) 1/(3n^2 - n) = ?$

<https://www.linkedin.com/groups/8313943/8313943-6414485959135547396>

Calculate

$$\sum_{n=1}^{\infty} \frac{1}{3n^2 - n} = \frac{3}{2} \ln 3 - \frac{\sqrt{3} \pi}{6}$$

Solution by Arkady Alt , San Jose, California, USA.

Since $-\frac{\ln(1-x^3)}{x^2} = \frac{1}{x^2} \sum_{n=1}^{\infty} \frac{x^{3n}}{n}$, $x \in (0, 1)$ then $f(x) := \sum_{n=1}^{\infty} \frac{x^{3n-1}}{n(3n-1)} =$

$$\int_0^x -\frac{1}{t^2} \ln(1-t^3) dt = \left(\frac{\ln(1-t^3)}{t} - \ln(1-t) + \frac{\ln(t^2+t+1)}{2} - \sqrt{3} \arctan\left(\frac{2t+1}{\sqrt{3}}\right) \right)_0^x =$$

$$\frac{\ln(1-x^3)}{x} - \ln(1-x) + \frac{\ln(x^2+x+1)}{2} - \sqrt{3} \arctan\left(\frac{2x+1}{\sqrt{3}}\right) + \frac{\sqrt{3} \pi}{6}$$

(because $\lim_{t \rightarrow 1} \frac{\ln(1-t^3)}{t} = \lim_{t \rightarrow 1} \left(\frac{\ln(1-t^3)}{t^3} \cdot t^2 \right) = -1 \cdot 0 = 0$).

Noting that $\lim_{x \rightarrow 1} \left(\frac{\ln(1-x^3)}{x} - \ln(1-x) \right) =$

$$\lim_{x \rightarrow 1} \left(\frac{\ln(x^2+x+1)}{x} + \frac{\ln(1-x)}{x} - \ln(1-x) \right) =$$

$\ln 3 + \lim_{x \rightarrow 1} \left(\ln(1-x) \cdot \frac{1-x}{x} \right) = \ln 3 + \lim_{x \rightarrow 1} ((1-x) \cdot \ln(1-x)) = \ln 3$ we obtain

$$\sum_{n=1}^{\infty} \frac{1}{3n^2 - n} = \lim_{x \rightarrow 1} f(x) =$$

$$\lim_{x \rightarrow 1} \left(\frac{\ln(1-x^3)}{x} - \ln(1-x) + \frac{\ln(x^2+x+1)}{2} - \sqrt{3} \arctan\left(\frac{2x+1}{\sqrt{3}}\right) + \frac{\sqrt{3} \pi}{6} \right) =$$

$$\lim_{x \rightarrow 1} \left(\frac{\ln(1-x^3)}{x} - \ln(1-x) \right) + \lim_{x \rightarrow 1} \frac{\ln(x^2+x+1)}{2} - \sqrt{3} \lim_{x \rightarrow 1} \arctan\left(\frac{2x+1}{\sqrt{3}}\right) + \frac{\sqrt{3} \pi}{6} =$$

$$\ln 3 + \frac{\ln 3}{2} - \sqrt{3} \cdot \frac{\pi}{3} + \frac{\sqrt{3} \pi}{6} = \frac{3}{2} \ln 3 - \frac{1}{6} \sqrt{3} \pi.$$